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(YA¥dl Solving Two-Step Inequalities

| Two-step inequalities can be sclved by first
undoing addition or subtraction, then
undoing muliiplication or division.

‘Remember to reverse
the inequality symbol if

you multiply or divide by
a negative number.

Complete the steps to solve the inequality. Then graph the
solution set.

1. -3x+ 35> —-10 .
-3x+ 35 >-10 - First undo addition or subtraction.

—3x> _ ~—— Then undo multiplication or division.
'_—%XD ——3 <—— Divide by —3, The inequality symbol is
reversed.

I
Graph the inequality.
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Solve. Then graph each solution set.
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Solve. Cross out each Inequality in the box that matches a
solution. Then graph each solution set.

xX>8 X<-8 xz -8 X<8 X=8 X=-8

1.3x—-56<19

2. —2x+12< -4
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Solve. Then graph each solution set.

5.7y-8>86

6. -4d+16==-1__ =~
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1. —g+5<7
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Solving Two-Step Inequalities

Solve. Then graph each solution set on a number line.
1. 5x—-8<17 ' '

3. -4n+8< -4

T

z
4.7—62—5

w
5. —x+4<9

u
6.5—5£—9

Solve.
7.—-7d+8>29 8.4g~18=-2
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102 -7<-2 M.8+£=17

12.

.12 -3b<9
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Solve each lnequaltty. Graph each solution set on the numher
line. Then use the letter next to your answer to solve the riddle.

1.5-6<19
| 0 50 100 150 200
With what number did you start the graph? ‘ - =H
2.L+5=-13 A
. =140 —-124 -108 124
Is your circle open or closed? - =E

3. —8x+ 5= -51 1
: 5 7 9 11 13

With what number did you start? —_— =1
4.5y—-4>-9 <A
-1012345
Is your circle apen or filled? ________=B
5—+8>11 At
-13-11 =9 =7 =5
Is it possible for the solution to include —97? =N

6.7y~6=22 D S s s . ey
, . 2345678910

Is it possible for the solution to include 47 =L

Why were the alien’s eyes so big?

Hesawhis P _ O
125 no ®

L

-0 7 yes
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